
N = 409

409 circles in a 1x0.70000 rectangle

radius =   0.021612675228
ratio  =  32.388401372332

density  = 0.857417208215
contacts = 814
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N = 410

410 circles in a 1x0.70000 rectangle

radius =   0.021579777953
ratio  =  32.437775843286

density  = 0.856898993535
contacts = 745
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N = 411

411 circles in a 1x0.70000 rectangle

radius =   0.021516223073
ratio  =  32.533590938341

density  = 0.853936802741
contacts = 941
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N = 412

412 circles in a 1x0.70000 rectangle

radius =   0.021489895834
ratio  =  32.573447791045

density  = 0.853920951722
contacts = 912
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N = 413

413 circles in a 1x0.70000 rectangle

radius =   0.021468508895
ratio  =  32.605897476884

density  = 0.854290638013
contacts = 757
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N = 414

414 circles in a 1x0.70000 rectangle

radius =   0.021468235525
ratio  =  32.606312670170

density  = 0.856337329546
contacts = 662
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